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The size of the error is at most the size of the first omitted term.

The error has the same sign as the first omitted term.

1 1The actual sum is between  and .n n n ns b s b
+ +

− +

( )
1

2
1

1
 

n

n n

−
∞

=

−
∑

                         
�������

s

                         
�������

9R

9 9

1

100
R s s= − ≤

1 1 1 1 1 1 1 1 1 1 1
1

4 9 16 25 36 49 64 81 100 121 144
= − + − + − + − + − + − �                         
�������

9s

9The error committed in using the 9th partial sum to approximate the total sum is R

The size of this error is at most the size of the first omitted term.
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The sign of the error is the sign of the first omitted term.
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The Taylor series is centered at 0a =
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